70.19%



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 3, 2024

November 1, 2024

Progress Estimate Number 3		Contract ID Prime Contractor	240119-H09 Apex Paving Co.	Pay Period Start Pay Period End	August 16, 2024 September 1, 2024	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,368,092.85 \$11,675.60 \$1,379,768.45
Approval Date							By User
September 3, 2024		(	Generated and App	proved (and should	be considered Draft)	at the Project Office Level by	collie1
September 3, 2024		Revie	ewed and Approve	d (and should be co	onsidered Draft) at th	e Resident Engineer Level by	stottt1
September 4, 2024			Rev	viewed and Approve	ed at the Central Offi	ce Controllers Office Level by	ramses1
Original Comp	letion Date	Current Comp	letion Date	Actual Complet	ion Date	% of Current Contract Amou	nt Complete

	Contract Informational Dates												
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract										
Acceptance Date													
Awarded Date	February 14, 2024	February 14, 2024											
Letting Date	January 19, 2024	January 19, 2024											
Notice to Proceed Date	March 11, 2024	March 11, 2024											
Open to Traffic Date													
Work Began Date													

November 1, 2024

Contract Total Pa	ay For Estimate No. 3				
		This Estimate	Previous	To Date	
240119-H09					
	Total Posted Items Pay	\$764,771.00	\$203,622.98	\$968,393.98	
	Gross Item Adjustments	(\$15,143.95)	\$45,559.25	\$30,415.30	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$249,182.23	\$998,809.28	
<b>Contract Total Pa</b>	yable This Estimate:	\$749.627.05			

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Current Installed Amount			
J9S3675	0030	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$68.000	1,012.4	\$68,843.20
	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$68.000	100	\$6,800.00
	0050	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$116.700	5,728.43	\$668,507.78
	0060	4071005	TACK COAT	GAL	\$2.500	4,936	\$12,340.00
	0080	6161005	CONSTRUCTION SIGNS	SQFT	\$7.000	6	\$42.00
	0210	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$13.300	619.4	\$8,238.02
Project J9S3	675 - Total						\$764,771.00
Overall - Tota	ıl						\$764,771.00

### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3675	0050	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun			-29.51	\$116.70	(\$3,443.82)
	0050	BITUMINOUS PAVEMENT MIXTURE PG64-22	Other Item Adjustment		For placement of 5728.43 tons			(\$11,700.13)

Revision 3/23/2023 Page 1 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 3, 2024

Progr	ess Es	timate Number 3	Contract ID Prime Cont			Pay Period Start Pay Period End	August 16, 2024 September 1, 2024	Net Cha	I Contract A ange Order A t Contract Ar	Amount \$1	,368,092.85 1,675.60 1,379,768.45
Project Number	Line No.	Item Descri	ption	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3675		(SURFACE	LEVELING)		Price Adjustment						
Total											(\$15,143.95)

Revision 3/23/2023 Page 2 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Cor	tract Project Informa	ion
Project Number	Federal Proj. Number	Description	Route	County			Location of Work
J9S3675	FAS S704(52)	Resurface	Е	PEMISCOT	from US 61 to Route DD		
Totals by J	Job Numb	ers					
J9S3675		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$764,771.00 (\$15,143.95) \$749,627.05	Previous \$203,622.98 \$45,559.25 \$249,182.23	To Date \$968,393.98 \$30,415.30 \$998,809.28
	Liqu	ntive Icentive Idated Damage r Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 3/23/2023 Page 3 of 8



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 240119-H09, Contract Project J9S3675, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4020520, Minor Item.	Awaiting change order	collie1	Acknowledged

Revision 3/23/2023 Page 4 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240119-H09	J9S3675	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$7,500.00	\$0.00
		0001	0020	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENT	10.00	0.00	10.00	100F	0.00	\$1,400.00	\$0.00
		0001	0030	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	880.70	131.70	1,012.40	TONS	1,012.40	\$68.00	\$68,843.20
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	60.00	40.00	100.00	TONS	100.00	\$68.00	\$6,800.00
		0001	0050	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,107.10	0.00	7,107.10	TONS	7,136.61	\$116.70	\$832,842.39
		0001	0060	4071005	TACK COAT	8,676.00	0.00	8,676.00	GAL	5,323.00	\$2.50	\$13,307.50
		0001	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.00	\$0.00
		0001	0080	6161005	CONSTRUCTION SIGNS	1,336.00	0.00	1,336.00	SQFT	309.00	\$7.00	\$2,163.00
		0001	0090	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$55.00	\$0.00
		0001	0100	6161025	CHANNELIZER (TRIM LINE)	158.00	0.00	158.00	EA	0.00	\$14.00	\$0.00
		0001	0110	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	3.00	0.00	3.00	EA	1.06	\$4,000.00	\$4,256.00
		0001	0120	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	0.00	\$19,500.00	\$0.00
		0001	0130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$81,400.00	\$0.00
		0001	0140	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	3,626.00	0.00	3,626.00	LF	0.00	\$2.00	\$0.00
		0001	0150	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	4,000.00	0.00	4,000.00	LF	0.00	\$2.00	\$0.00
		0001	0160	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	84.00	0.00	84.00	LF	0.00	\$10.00	\$0.00
		0001	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	81,524.00	0.00	81,524.00	LF	0.00	\$0.14	\$0.00
		0001	0180	6206001C	4 IN, YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	43,378.00	0.00	43,378.00	LF	0.00	\$0.14	\$0.00
		0001	0190	6207001	PAVEMENT MARKING REMOVAL	9,130.00	0.00	9,130.00	LF	0.00	\$1.50	\$0.00
		0001	0200	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	2,339.00	0.00	2,339.00	SQYD	2,338.70	\$7.00	\$16,370.90
		0001	0210	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,098.00	0.00	2,098.00	SQYD	1,790.30	\$13.30	\$23,810.99
		0010	0220	6061060	MGS GUARDRAIL	250.00	0.00	250.00	LF	0.00	\$32.00	\$0.00
		0010	0230	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	12.00	0.00	12.00	EA	0.00	\$4,100.00	\$0.00
		0010	0240	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	12.00	0.00	12.00	EA	0.00	\$3,300.00	\$0.00
		0040	0250	9031210	STRUCTURAL STEEL POSTS	30.00	0.00	30.00	LB	0.00	\$50.00	\$0.00
		0040	0260	9031270A	2 IN. PSST POST - 12 GA.	76.00	0.00	76.00	LF	0.00	\$15.00	\$0.00
		0040	0270	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	7.00	0.00	7.00	EA	0.00	\$55.00	\$0.00
		0040	0280	9031280	2.5 IN. PSST POST - 12 GA.	136.00	0.00	136.00	LF	0.00	\$25.00	\$0.00
		0040	0290	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	7.00	0.00	7.00	EA	0.00	\$100.00	\$0.00
		0040	0300	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	4.00	0.00	4.00	EA	0.00	\$250.00	\$0.00
		0040	0310	9035004A	SH-FLAT SHEET	143.00	0.00	143.00	SQFT	0.00	\$30.00	\$0.00
		0040	0320	9035011A	ST-STRUCTURAL	48.00	0.00	48.00	SQFT	0.00	\$75.00	\$0.00
		0040	0330	9035069A	SHF-FLAT SHEET FLUORESCENT	71.00	0.00	71.00	SQFT	0.00	\$35.00	\$0.00
		0070	0340	7034600	CURB BLOCKOUT	577.00	0.00	577.00	LF	0.00	\$103.00	\$0.00
		0071	0350	7034600	CURB BLOCKOUT	322.00	0.00	322.00	LF	0.00	\$126.00	\$0.00
	Project J	9S3675 - To	tal Value	Posted to D	ate as of Report Generated Date							\$968,393.98
240119-H09 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$968,393.98

Revision 3/23/2023 Page 5 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3675

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	3049910	MISC. AGGREGATE FOR BASE	8/28/24	9/3/24	1,012.40	TONS	qty over plan, per Lynn's notes	0		0		
0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	8/28/24	9/3/24	100.00	TONS	over plan qty per Lynn's notes.	0		0		
0050	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/19/24	9/3/24	1,855.12	TONS	EBL: LM 7.72 to LM 4.001 and LM 3.958 to LM 3.726.	7.72		3.726		
			8/20/24	9/3/24	1,817.10	TONS	WBL: LM 4.742 to LM 0.513 exceptions-LM 1.656 to 1.393 & LM 1.366 to 0.513	4.724		0.513		
			8/21/24	9/3/24	1,676.60	TONS	EBL: LM 3.726 to 1.708, 1.656 to 1.393, 1.393 to 0.111	3.726		0.111		
			8/22/24	9/3/24	74.06	TONS	EBL	0.111		0.000		
				9/3/24	305.55	TONS	WBL	0.513		0.000		
0060	4071005	TACK COAT	8/19/24	9/3/24	1,742.00	GAL	EBL: LM 7.72 to LM 4.001 and LM 3.958 to LM 3.726.	7.72		3.726		
			8/20/24	9/3/24	1,549.00	GAL	WBL: LM 4.742 to LM 0.513 exceptions-LM 1.656 to 1.393 & LM 1.366 to 0.513	4.742		0.513		
			8/21/24	9/3/24	1,355.00	GAL	EBL: LM 3.726 to 1.708, 1.656 to 1.393, 1.393 to 0.111	3.726		0.111		
			8/22/24	9/3/24	290.00	GAL	EBL-0.111 to 0.000 WBL-0.513 to 0.000	0		0		
0800	6161005	CONSTRUCTION SIGNS	8/20/24	9/3/24	6.00	SQFT	G020-4a Wait for Pilot Car Signs x's 4 (1.50 SF)	0		0		
0210	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8/19/24	9/3/24	1.20	SQYD	DW White House	3.652				
				9/3/24	1.70	SQYD	DW House	3.633				
				9/3/24	2.10	SQYD	DW House	3.638				
				9/3/24	2.80	SQYD	Concrete DW	3.040				
				9/3/24	2.90	SQYD	Concrete DW	2.960				
				9/3/24	3.20	SQYD	Concrete DW	2.999				
				9/3/24	3.40	SQYD	Cooter R4 Parking Lot	3.646				
				9/3/24	4.20	SQYD	Cooter R4 Parking Lot	3.674				
				9/3/24	5.30	SQYD	Pine St	3.362				
				9/3/24	6.00	SQYD	Miles St	3.355				
				9/3/24	17.30	SQYD	Asphalt Rd	1.044				
				9/3/24	26.20	SQYD	Cooter R4 Entrance	3.734				
				9/3/24	77.80	SQYD	Outer Road South	1.907				
				9/3/24	85.40	SQYD	Outer Road North	1.907				
				9/3/24	88.20	SQYD	Outer Road North	1.481				
				9/3/24	140.30	SQYD	BR A1941	1.366				
				9/3/24	151.40	SQYD	BR A1941	1.392				

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 6 of 8



### Line Item Adjustments by Estimate

Contract ID: 240119-H09

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J9S3675	0050	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		2	Aug 16, 2024	SYSTEM	\$164,334.61	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user collie1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
		PG04-22 (SUR			2	Aug 16, 2024	SYSTEM	(\$164,334.61)		
				- Total				\$0.00		
			Material - To	tal				\$0.00		
			Other Item Adjustment	ACAD	2	Aug 16, 2024	stottt1	(\$2,878.25)	Asphalt laid 1409.18 tons	
					3	Sep 3, 2024	stottt1	(\$11,700.13)	For placement of 5728.43 tons	
				ACAD - Tota	al			(\$14,578.38)		
			Other Item A	djustment - T	otal			(\$14,578.38)		
			Overrun	Overrun	3	Sep 3, 2024	SYSTEM	(\$3,443.82)		
				Overrun - To	otal			(\$3,443.82)		
			Overrun - To	tal				(\$3,443.82)		
	0050 -	Total						(\$18,022.20)		
	0060	TACK COAT	TACK COAT Material			2	Aug 16, 2024	SYSTEM	\$967.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user collie1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Aug 16, 2024	SYSTEM	(\$967.50)		
				- Total				\$0.00		
			Material - To	tal				\$0.00		
	0060 -	Total						\$0.00		
	0220	MGS GUARDRAIL	Construction Stockpile STMI		1	May 16, 2024	SYSTEM	\$3,437.50	Payment Estimate Item Adjustment generated Stockpile Transaction	
			OTIVII	- Total				\$3,437.50		
			Construction	Stockpile S1	MI - Total			\$3,437.50		
	0220 -	Total						\$3,437.50		
	0230	MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile STMI		1	May 16, 2024	SYSTEM	\$22,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
		CURB)	3	- Total				\$22,500.00		
			Construction	Stockpile S1	MI - Total			\$22,500.00		
	0230 -	Total						\$22,500.00		
	0240	0240 TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile STMI		1	May 16, 2024	SYSTEM	\$22,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
		(MASH)		- Total				\$22,500.00		
			Construction	Stockpile S1	MI - Total			\$22,500.00		
	0240 -	Total						\$22,500.00		
J9S3675 -	Total							\$30,415.30		
Overall - 1	Total							\$30,415.30		

# MoDOT

### Contract Adjustments for Contract - 240119-H09

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 8 of 8